Mathematics 172
Quiz #30 Name: Km&, “

You must show your work to get full credait.

Here is how to a rate equation of the form

dP
— =kP
g7 + i€
where k and ¢ are constants. To be specific let us use constants:
dP
— = —2P + 100.
dt "

and assume P(0) = 40.
1. Find the quilibrium point. (Hint: The answer is 50, but you should show your

work. % - w@«“&) ylog =0
. *‘”M
a4 @i:g uilibrium point is S

2. Let y = P — 50 be the 1ffernc P and its equilibrium value. Then P =y + 50.
Find the rate equation for y.

Rate equation is % — _"2‘3
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3. Find y(0) = P(0) — 50.= 40 -sU yior==ee & F0) = —(O

(0
4. Find a formula for y(t). s yt)= 70 éf.ﬁ A
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5. Finish by finding a formula for P(t) P(t) = 50 -] &

P = 9+50 = —0EFF t5U



